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Now that we have fully transformed equations from x to )/C
Let's now calculate k
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The integrand I(¢ \) is a 4x4 matrix
st s W FOLL INTE GRATION ORDER v I §b)
yOLL N = o

F no\ @./\ch\A \‘/‘K 9‘ % ngv&{wv&

SWL&W
K -0 NSNS

K (St \V\m E lrc

We need to the same order check for all the other 15 components of the stlffness, but a short look at
the matrix components show that the order for terms is 2 in ff and2 in f
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For which one 9NC calculates k exactly? C

Do the same thing with Gauss Quadrature:
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Relating this to the specific geometry we have before
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Calculate k using 9NC or 9Gauss (preferred).
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